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h 1d (it)1. !NXtN x = 0K*1kF$i<8+r-;JzN_-93HK#(1) ex (2) sinx (3) 
osx (4) (1 + x)�J�OjtK (5) log(1 + x)2. !NY-itN}+>Braah#(1) 1Xn=1�1 + 1n�n2 xn (2) 1Xn=1 xnnp JpO5NjtK (3) 1Xn=0(3n � 1)xn(4) F (�; 
;x) = 1 + 1Xn=1 �(�+ 1) � � � (�+ n� 1)
(
 + 1) � � � (
 + n� 1) xnn!
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 6= 0;�1;�2; � � �K3. xr �1 < x < 1JktH9k#(a) 1Xn=1xn�1 r xrQ$F=;#(b) `LQ,rxQ9k3HKhj 1Xn=1 xnn raah#(
) `LQ,rxQ9k3HKhj 1Xn=1 xn+1n(n+ 1) raah#
h 2dJoy,}x0K1. !Noy,}x0NlLrraah%?@7$utNXtXt,=l?~O sin; 
osrQ$

Frrq->93HJ?H(P$y00 + y = 0NrO y = C1 
osx+C2 sinx JC1; C2 O$U
jtKH9kK#(1) dydx = y(y + 1) (2) y00 + 3y0 + 2y = 0 (3) y00 � 4y0 + 4y = 0 (4) y00 + 6y0 + 10y = 02. !; !0r5Njt$ArBtjtH9k%y00 + !02y = A 
os!x
NlLrraahJ!0 6= !, !0 = !NlgKlg,19k3HK%
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